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The owner of an electronics store states that she cannot purchase more than 60
televisions of two different models for her store as she does not want to overstock
items. At most, each 27” television occupies 0.7 m3 and each 32” model uses

1.2m3 . She has a maximum storage space of 50 m3 in the warehouse. Since the
32” model sells better than the 27 model, she keeps at least 30 in inventory. She
makes a profit of 1508 per an <l
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The Ideal Kitchen Company hires 12 cabinetmakers and 4 cabinetmaker-trainees
to manufacture different quality cupboards: a luxurious model and a standard
model. The manufacturing of a luxurious cupboard needs 4 hours of work per
cabinetmaker and 2 of work per trainee. The manufacturing of a standard
cupboard needs 8 hours of work per cabinetmaker and 2 of work per trainee.

The collective agreement specifies that an employee can’t work more than 8
hours a day. If the employer realizes a $20 profit per luxurious model and $12
on a standard model, how many cupboards of each model will he need to
manufacture per day to maximize his profit?
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